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GENERAL MATHEMATICS SSC-l
SECTION — A (Marks 15)
Time allowed: 20 Minutes |

NOTE: Section-A is compulsory. Ali parts of this section are to be answered on the question paper itself
It should be completed in the first 20 minutes and handed over to the Centre Superintendent
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) The irrational number that contains radical sign is called:
A Mixed surd B. Surd
C. Rational number .D. Natural number

(ii) (a—bYa* +ab+b*)="7

A (a—by B. (a+by C. a-b D. a +b
(iil) Factorization of a* —1 is:
A (a-NWa+)(a* +1) B. (@—1)a+1)a* 1)
C. (@a+1)a® -1) D. (@ +1)a+1)
(iv) The number of methods to find H.C.F are:
A 1 B. 2 C. 3 D. 4
(v) L.CMof 3a*s’c and 15478  is:
A 454°h%c* B. 45q°b*c? C. 15a’h*c? D 15a*p'c®
. X .
(vi) If x> ythen 3 ......... —_‘%ls:
A > B. = o} < D. >

(vi)  Solution set of x* -5x-6=0is:
A {6,—1} B. {2,3} C. {-2,-3} D. {3}

2 3 .
(vili) IfAzL 5 ] then adj A=?

S e T e O O O

(i%) If[l 2”’}:[' %] thena =2
5]

3 5 3
A 0 B. 2 C. -2 D. 1
{x) A line which intersects a circle at two points is called:
A Tangent B. Arc . C Secant D. Diameter
(xi) The central angle of minor arc of circle is of the angle subtended by c_prresponding
major arc. .
A Equal B. Double C. Three times D. Four times
(xii) The angle bisectors of a triangle are;
A Concurrent B. Coliinear C. Perpendicular D. Non-concurrent
(xili)  Ifradius of circle is 3 cm then area of circle will be:
A k¥ 4 B. 6 C. 971 D. i3
(xiv)  Volume of right circular cylinder is:
3 2
A rh B. zrh C. arh D. iJrr2
3 2 3
(xv) Distance between two points A4(0,0)and B(3,4)is:
A 0 B. 3 C. 4 D. 5
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GENERAL MATHEMATICS SSC-li )”7

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:

Attempt any NINE parts from Section ‘B’ and any FOUR questions from Sectlon ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatiy and logibly.

e 3THIA,

Note:

Q3

Q4.

Q5.

Q6.
Q7. .

Q8.

CTION — 36
Attempt any NINE parts. All parts carry equal marks. (9x4=36)
1 2 1 2
(i) Show that (z+-) -(z——) =4
z z
(ii) If x=~/3 —+/2 then find the values of:
a. xwl— b. x? +—12—
x x

(iy ~ Factorize 20x* +5—20x

(iv)  Factorize x* +274°

(V) If P(x)=x’—hkx’ +3x+5is divided by (x—1) . find k if remainder is 8.
(vi)  Find H.C.F by factorization x* +64, x* —16

(vi)  Find square root of 16x? + 24xy +9)”

(viii)  Solve and check Jx+5+7=0

(ix)  Solve and represent it on number line > ;2 + % < x; 4
(x) Solve by factorization method x* =8—7x
(xi) The product of two consective positive numbers is 166. Find the numbers.

(xii) If A{Iz ﬂ and B:{i —Z}hen verify (A+B) =A' + B
[1 2] N
(xiit) Let M= find M
3 4

‘ . . . 2 =30 i
(xiv)  Find matrix product

SECTION - C (Marks 24)
Attempt any FOUR questions. All questions carry equal marks. (4 x 6 =24)

One algebraic expression is x° —x> +2x—2and other one is x’—x’—2x+2. Their HC.F is (x-1).

Find their L.C.M
Simplify X" —12x+l 5 x+1
x =1 x-—1
) o . 3x-y=10
Solve using matrix inversion method.
2x+3y=3

Draw a circle passing through the vertices of a square of side 3cm.

‘How many tiles of 40cm® will be required to pave the footpath 1 meter wide carried round the outside

of a Grassy plot 28 m by 18 m?
Show that the points A(-2,11), B(-6,—-3)and C(4,-9)are of a scalene triangle.

~— 255 1618 —
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